
DATENAME_ Sore Dns
FRQ #39AP Calculus AB

The Par t ic le P r o b l e m

t - 2

T h e v e l o c i t y o f a p a r t i c l e m o v i n g o n t h e y - a x i s i s g i v e n b y v ( t ) = w a - 4 o n t h e i n t e r v a l ( 1 , 1 1 ] . A t

t i m e t = 1, the par t i c le is 3 un i t s above t h e or ig in .

(a) Du r i ng w h a t t i m e in terva l is t h e par t ic le m o v i n g d o w n ?
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(b) W h a t is the pos i t i on o f t h e par t ic le w h e n i t is f a r t h e s t sou th o f t h e or ig in?
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(c) A t w h a t t i m e is t h e par t ic le 's average ve loc i t y t w i c e t h e ins tan taneous v e l o c i t y on t h e in terva l ( 2 , 8 ] ?
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(d) Find t h e t o t a l d is tance t rave led b y t h e par t ic le d u r i n g t h e t i m e w h e r e t € [ 1, 1 1 } .
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